w

|

PP INE
#Haxat DR UL K £/ 5 HERE
LK BEEMAEZRA.

RLWEREDA—T A IDORBAICKIVERRREY 4ERFMH.

mRFATL2EOFGEHAEL .

(27, DAIICHI

B—EEXRXSFL

4‘
\ \
‘5
4~
Q‘
‘b

WE7Lvbh_  DDEM

01
02
03
04

MEBTHROERICEMEZ



w

Forming Tap

RUEnE

FATWETLY b Double TAFLET

E S

\JINV L

convent

22w 7°MEE+TICN =T+ ':/7 « Lapping treatment + TiCN coating
a Ugﬁﬁﬁft * Thread section optimization
ﬂﬁﬁ@z'&%ﬁiglﬁﬂ * Heat resistant high speed tool steel

RUWBRRED—FTr I DRBILICKY
HERMRSIVIEBRER. BRFRATH2EDOERZRNR !

By dasi?nin with optimal thread and coating, could achieve four times tool life than
onal products and double tool life even for high carbon steel.

TYPE 1

#HMBLELT. UWLITFORT (2c) BRESRMIU VS ERELTHDET.

WEZr S

TYPE 2 TYPE 3
K e oo #Ds ke fon ®Ds Ok
A i N o
7N AT ] PN T I 4
| | N7 I 1

e ek | e
__&n En

—t

NI 5 —+% | Processing Data

Tiesiha eousd S0mimin MBX1 S50CH®IITHE Durabiity of SSOC materials
T #5565
pe W-TF 9,400
HIHGH A
Watar-solubla
e AR 5190 1818
wEH | ssoc Competitors producis 8
T HGE RI=I e — TEHER A90=
Machina Machining center
0 2500 5,000 7,500 10,000 times
Toring boned A0m/min
TR MBx1 SEOCH®III® Durability of S50C materials
Huli:iﬁ 65'55
VRIS St W-TF 8420
Coolant Water-soluble 3 F
AR 2800 ‘ {’
wﬂmm 5506 e S .
MTeebt Rt e 0 2,000 4,000 £.000 times
Fon/ BILZFT A | Product life /Torgue Test
FaL4INm] MBEX1 #EI#:S50C Ve:20m/min
Torqua Wotk material Tanping speed
12
~ | - Pure
o | ——
X r———————r J_//
3 -
" i ; i i 5000 ) 700 ‘ o
1000 2000 3000 4000 #000 o000 urability
=
(4] BiR{E B 20m/min—40m/min [l 9270wk EFILEINERE (rXx—)
Acceleration comparison S50C (HRC28) TAFLET Performance by model
TR
D e i Processing spaed
” 10000 1.8 -
9000 - = et
‘ 8000
7000 ol
6000
2L | soo0
My
m 4000
:— 3000
2000
n | 1000
i~ 0
1] W-TF ttausg W-TF s
m Compatiters procucts Compatitors praducta
Q 20m/min 40m/min EET




@ X—NILRUH 847 (Unit) - mm

P+5 1 No. ECF ait| EeE ik fz & = % (mm) Dimensions SUTILM | CEEN HESIL
Item No. Nominal size | 8c | Limit | Type L g Ds n Dn 7z gk Radial | Oil groave | New Model
46980 | M3 XO05 | B 5 2 46 10 4 18 | 23 | 32 [5 5 5
46981 M3 XO0S5 B <] 2 46 10 4 18 2.3 3.2 =] 5 5
46882 M3 X058 B 7 2 46 10 4 18 2.3 3.2 5] 5 5
46983 M3 X058 P B 2 46 10 4 18 2.3 3.2 6 5 5
46984 M2 XO05 | P | 6 2 48 10 4 | 18 | 23 | 32 6 5 5
46985 M3 X05 P 7 2 46 10 4 18 2.3 3.2 5] 5 5
46986 M3.6 X 0.6 B 5 2 48 10 4 18 2.8 3.2 B 5 5
46987 M3.5 X 0.6 P 5 2 48 10 4 18 286 3.2 6 5 5
46988 M4 XD0.7 B B 2 52 10 5 20 3 4 7, 5 5
46889 M4 X0.7 B 74 2 52 10 5 20 3 4 7 5 5
46930 M4 X0.7 B 8 2 52 10 5 20 3 4 7 5 5
46891 M4 X0.7 P B 2 52 10 5 20 3 4 7 5 5
46992 M4 X0.7 P 7 2 52 10 5 20 3 4 7 B 5
46993 M4 X0.7 P 8 2 52 10 5 20 3 4 7 5 5
47850 ME X08 1C 6 2 60 10 5.5 22 3.9 45 7 5 5 *
46994 M5 X0.8 B 6 2 80 10 5.6 22 3.9 45 2 5 5
46995 M5 X0.8 B 7 2 60 10 55 22 3.8 45 7 B 5
46996 ME X0.8 B 8 2 60 10 BB e 3.9 45 i 5 5
46897 ME XO0.8B P 5] 2 60 10 5.5 22 3.9 4.5 7 5 5
46998 M5 X0.8 P 7 2 60 10 5.5 22 3.8 4.5 74 5 5
46999 M5 X0.8 P 8 2 60 10 55 22 3.8 45 7 5 5
47853 ME X1 1C il 2 62 10 B 24 4.6 4.5 7 5 5 *
47000 ME X1 B 7 2 62 10 B 24 4.6 4.5 7 5 5
47001 ME X1 B 8 2 62 10 =] 24 4.6 45 7 5 5
47002 MBE X1 B =] 2 62 10 5] 24 4.6 45 7 5 5
47003 ME X1 P 7 2 62 10 B 24 4.6 4.5 7 5 5
47004 ME X1 P =) 2 62 10 B 24 4.6 45 7 5 5
47005 ME X1 P 8 2 62 10 6 24 4.6 45 7 5 5
47006 ME X075 B 5] = 62 10 5] 24 4.6 45 7 5 5
47007 MBE X075 P <] 2 B2 10 B 24 4.6 45 7 5 5
~ 47008 | M7 X1 B 7 3 65 16 62 | 26 | 56 5 8 6 6

47009 M7 X1 P 7 3 65 16 8.2 26 5.8 5 8 6 8

47010 M7 X075 | B 6 3 65 16 6.2 26 5.6 5 8 6 6

47011 M7 X076 | P 6 3 65 18 6.2 26 56 5 8 B B

47856 M8 X1.25|1C| 7 3 70 | 1B 62 | 30 8 5 8 6 6 *

47012 MB X125 B 7 3 70 18 6.2 30 5] 5 8 ] 6

47013 MB X1.25| B 8 3 70 18 6.2 30 3] 5 B B 2]

47014 MB X1.25| B 8 3 70 18 6.2 30 5] 8 8 6 5]

47015 MB X126 | P 7 3 70 18 6.2 30 B8 5 8 B 6

47016 MEB X125 P 8 3 70 18 6.2 30 5] 5 8 6 6

47017 M8 X125 F 9 3 70 18 6.2 30 B 5 8 5] 6
47858 M8 X1 1C BN 3 | 70 18 6.2 30 | (5] 5 8 6 6 *

47018 M8 X1 B 4 3 70 18 B.2 30 8 5 8 B B

47019 M8 X1 P T 3 70 18 6.2 30 6 5 8 6 =]

47860 MI10 X 1.6 1C T 3 75 18 7 32 6.8 85 8 8 8 *

47020 MI10 X165 | B [7 | 3 | 75 | 19 7 | @@ [ 68 |65 | 8 | 8 | 8

47021 MI10 X 1.5 B 8 3 78 19 7 32 6.8 BB 8 8 8

47022 M10 X 1.5 P 7 3 75 19 7 32 6.8 5.5 8 8 8

47023 MI10 X 1.6 P =] 3 75 18 7 32 6.8 [=R=] 8 8 8

47863 MI10 X126 | 1C 7 3 75 19 74 32 B.8 55 8 8 8 *

47024 M10 X 1.26 B 7 3 75 g T 32 6.8 55 8 8 8

47025 MI1O X1.25| B 9 3 75 9 7 32 6.8 55 8 8 8

47026 M10 X125 | P 7 3 75 <] 7 32 6.8 55 8 8 8

47027 MIO X126 | P a8 3 Fi=) 19 7 32 6.8 BB 8 8 8

47866 MI10 X1 1C Z 3 75 19 7 32 6.8 55 8 8 8 *

47028 MI10 X1 B Gk 3 75 19 7 32 6.8 g.6 8 8 8

47023 M10 X1 [ B | 9 | 3 | 75 | 18 7 | 32 [ 68 | 65 | 8 8 8

47030 MI10 X1 P 7 3 75 19 Tz 32 8.8 585 8 8 8

47031 MI10 X1 P g 3 75 19 7 32 6.8 5.5 8 8 8

47867 M12 X1.75 | 1C 10 3 82 23 85 38 83 6.5 9 8 8 *

47032 MIi12 X1.7656| B 8 3 82 23 8.5 38 83 6.5 9 8 8

47033 Mi12 X175 | B 10 3 82 23 8.5 38 8.3 8.5 g 8 B8

47034 M12 X178 | P 8 8 82 23 85 38 8.3 6.5 g 8 8

47035 M12 X1.75| P 0 e 82 23 85 38 8.3 6.5 9 8 8

47870 Mi12 X 1.6 1C 0 3 82 23 8.5 38 8.3 6.5 g 8 8 *

47036 Mi12 X 1.6 B 7 3 82 23 8.5 38 8.3 6.5 g 8 8

47037 M12 xX1.5 B 10 3 82 23 85 a8 8.3 6.5 9 8 8

47038 M12 X 1.5 P 7 3 82 23 85 38 B.3 6.5 9 8 8

47039 M12 X 1.6 P 10 3 82 23 8.5 38 8.3 6.5 ) 8 8

47873 M12 X1.25 | 1C 12 3 82 23 85 38 8.3 6.5 9 8 8 *

47040 M12 X1.25| B 7 3 82 23 85 38 8.3 B85 9 8 8

47041 MI2 X1.256| B 12 3 82 23 85 38 8.3 6.5 9 8 8

47042 Mi12 X126 | P 7 3 82 23 8.5 38 8.3 65 =] 8 8

47043 Mi12 X 1.28 P 12 3 82 23 8.5 38 8.3 8.5 a9 8 8

47876 M12 X1 1C 8 3 82 23 85 38 8.3 65 9 8 8 *

47044 MI12 X1 B 7 3 82 23 8.5 38 8.3 65 =] 8 8

47045 MIi12 X1 B =] 3 82 23 8.5 38 8.3 6.5 9 8 8

47046 M12 X 1 P 7 3 82 23 8.5 38 8.3 B.5 9 8 8

47047 Mi12 X1 P =] 3 82 23 85 38 8.3 6.5 9 8 8

47048 M14 X 1.5 B 10 3 88 25 10.5 42 10.3 8 11 8 8

47049 M14 X 1.6 P 10 3 88 25 10.5 42 10.3 8 11 8 8

470850 MI1B X 1.5 B 10 3 95 27 125 45 12.3 10 13 8 =]

470617 | M16 X1.5 | P | 10 3 95 87 |125 | 45 [12.3 10 | 13 8 8

470562 MI1B X 1.6 B 11 3 100 28 14 48 13.8 11 14 8 8

47053 MI1B X 1.6 P 11 3 100 29 14 48 13.8 11 14 8 8

47054 M20 X 1.5 B 11 3 05 30 15 B0 14.8 12 15 8 8

47065 M20 X 1.5 P 11 3 05 30 15 50 14.8 12 15 8 8

- BEMOIrT X2k UHENEMOBESETY., - The recommended tap limit in [[]corresponds to JIS Class 2 internal thread standard.
- kDI ETIIZ2020EMRETTE. - New model of % will be released in the fall of 2020.



@1-T7AXiBRUH Unified coarse screw threads &4 (Unit) :mm

P47 No. L3165 afl | \E | B 2 & < & (mm) Dimensions ST | HRE |HETIL
Item No. Nominal size Bc Limit | Type L [ Ds | @n Dn ¥ pk | Radial |Qil groove|New Model
47056 Mo2-56UNC B 4 1 42 2] 3 18 29 2.5 5 4 0 -
47057 No2—-56UNC P 4 1 42 9 3 18 239 2.5 5 4 0 -
47068 No4—40UNC B <t 1 4 10 3 16 29 2.5 =] 4 0 -
47059 No4—40UNC P a4 1 44 10 3 16 29 2.5 5 4 0 -
47080 NoB—-32UNC B 5 2 48 10 4 18 24 3.2 B 5 5 -
470861 Mo6=-32UNC P 5 2 48 10 4 18 24 3.2 5] B 5 -
47062 MoB-32UNC B 8 2 52 10 5 20 3 4 i =] =] -
47083 MoB-32UNC P B 2 52 10 5] 20 3 a4 7 5 5 -
47084 a —20UNC B B 2 62 10 6 24 46 45 7 5 5 -
47065 4 —20UNC P B 2 62 10 5] 24 4.6 4.5 7 =] 5 -
47068 545 = 1BUNC B 7 3 70 18 8.1 30 [=F 2] 5 8 B (5] -
47069 E4s = 1BUNC P 7 3 70 18 8.1 30 59 5 8 6 (] -
47072 3% - 16UNC B 7 3 76 21 7 35 68 BEb 8 B B -
47073 24 = 1BUNC P 7 3 75 21 7 35 6.8 Bb 8 B 5] -

@1=-77/{iIBRUH Unified fine screw threads &4t (Unit) :mm

FAT I No. 1274 Bt | BE | B # & = # (mm) Dimensions YT | s HETIL
tem No. Nominal size gc Limit | Tvpe L ] Ds | en Dn K Bk Radial |0il groove|New Modsl
47066 14 = 28UNF B 8 2 62 10 ] 24 46 4.5 7 5 5 -
47067 \/a — 2BUNF P B 2 62 10 5] 24 46 45 7 5 5 -
47070 5145 ~ 24UNF B 7 3 70 18 6.1 30 589 5 8 B (5] -
47071 34s — 24UNF P 57 3 70 18 B.1 30 59 5 8 B8 (5] -
47074 38 - 24UNF B 7 3 75 21 7 35 6.8 5.5 8 B 8 -
47075 34 = 24UNF P 7 3 75 21 7 35 6.8 5.5 8 B 5] -

G HTIVR T LY P Double TAFLET, Long Shank @REAILZ

@ X—KJLa A 847 (Unit) : mm

P45 L No. 214} Bt | BEE 7N £ & # (mm) Dimensions SITIE | mES FHETIL

Item No. Nominal size Bc | Limit | Type L [ Ds | on Dn K gk | Radial |Ofl groove |New Model
47846 M3 x0.B B 5 2 80 10 4 | 18 23 3.2 6 5 5 *
47849 M4 x0.7 B 8 = 80 10 b ] 20 3 4 o 5 5 *
47851 ME x0.8 1C B 2 100 10 5.5 25 39 45 7 5 5 *
478562 M5 x0.B B B8 2 100 10 55 25 39 45 7 B 5 *
47854 MB x1 1C 7 = 100 10 6 30 46 45 7 5 5 *
47855 MBE %1 B 7 2 100 10 (5] 30 486 45 7 5 5 *
47857 MB x1.25 1C 7 2 100 18 6.2 30 ] 5 8 B B *
47858 MB8 x1.25 B 7 2 100 18 6.2 30 6 5 8 B B8 *
47861 M10 x1.5 16 7 2 |100 19 7| 32 | 88 | B5 8 8 8 *
47862 M10 %x1.5 B 7 2 100 19 7 | 32 B8 BB 8 B 8 *
47864 M10 x1.25 1C 7 2 100 19 7 32 6.8 5.6 8 =] 8 *
47865 M10 x1.25 B 7 2 100 19 7 32 6.8 5.5 8 8 8 *
47868 M12 x1.756 1C 10 2 120 23 85 38 83 6.5 9 B 8 *
47869 M12 %1.76 B 10 2 120 23 8.5 38 83 B.5 9 8 B *
47871 M12 x1.6 1C 10 2 120 23 8.5 38 83 6.5 9 B 8 *
47872 M12 X1.5 B 10 2 120 23 8.5 38 83 6.5 Q B8 8 *
47874 M12 %x1.25 1C 12 2 120 23 8.5 38 8.3 6.5 =] 8 8 *
47875 M12 %1.25 B 12 2 120 23 85 38 8.3 B.5 (=] 8 8 *
FEEMOC AR UENBEIGORBEETY. - The recommended tap limit in T lcorresponds to JIS Class 2 internal thread standard.

e DIRET VIS 2020FENHETTE. + New model of + will be released in the fall of 2020.

R chpeRe ERoR | SHEEAR AR AFVUAM I FUSSANERS(IAN S | A | M
Low Carbon Steals | Madim Carbon Gtess | High Carban Steefs | Cokd Rl Sheet Stees | Structusl oy Steels | Stainless Steels|  Aluminum | Auminum Discestig | Zinc Diecasting|  Copper Brass | Brass Casting
z;sgz ziﬁig 2R e o sus AL o zoc cu ES BSC
@ © (@] © © © © © @ O O O

TANOI srer HEHRIERN |/ DH“CHI
CIE%4E MEIUFP T3I5-0226 HERETEHER53 TEL :04B0-92-7T011 FAX:0480-092-4441

TS WHLTUP 9850537 SHRMEE L, BIETRISEIS  TEL 0224-37-2075 FAX:0224-37-2213 ERARXS

SRS BEBTUP TAE0.0013 BAIRSSEGRE LRI TESE6S TEL 052-322-4001 FAX:052-322-4003 990-2334 IJJTf/ LLTE Tﬁﬁﬂfﬁi(ﬂ%ﬁﬂfﬁ 640
CeRS BHIUF 77320003 CERGEHEESENITS12E3S TEL 082-230-5300 FAX:082-230-6120
EETH T399-0226 HEREABMASS3 TEL :0480-92-1731 FAX:0480-92-4441 @ 023-688-4781 =2h 023-688-4709

OfESd=r¥o/ TOBG0537 ERWIERL r BIIFHEISE1S  TEL:0224-37-2211 FAX:0224.37-2213




